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QUESTION 1

In a BPEL model, what is the quickest way to implement a capability to skip rule execution if a particular condition
holds?

A. Model a switch activity to conditionally execute the business rule component.
B. Use a skip condition on the business rule component.

C. Include an XPath expression in an annotation on the business rule component.
D. Use a correlation set on the business rule component.

Correct Answer: C

QUESTION 2

Which three are proper applications of Oracle Service Bus?

A. An existing Java web service is made available to clients running transports and protocols not originally
planned by the original developers. No modifications to the web service implementation are required.

B. A request is transformed and routed to an appropriate service endpoint based on the content of the request
message. All complexity of the supporting runtime protocol selection is hidden

C. Arequest for a large graphics job is split into smaller pieces that are processed in parallel by an existing rendering
service. After all of the pieces have been processed, the results are joined to create a single response.

D. A request containing a complex family tree is validated before being routed to an existing genealogy service.
Recursive logic is implemented to validate that all relationships in the tree are consistent.

E. A request for a background check is conditionally routed between multiple third-party validation services with different
service-level agreements. Remediation must be handled if any one of the validation service calls fails.

Correct Answer: ACD

QUESTION 3

You are planning to upgrade a SOA suite production environment from 11g to 12c and are evaluating the required steps
in the upgrade process.

Identify the two statements that accurately describe that process.
A. Composites must be redeployed after the upgrade process.

B. It is recommended to-purge as many nonessential instances in the dehydration store as possible before the
upgrade.

C. BAM dashboards and alerts will be migrated automatically.
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D. Long-running instances will resume after the upgrade process has completed.

Correct Answer: BC

QUESTION 4
You defined an event. You now want to trigger that event from an existing Mediator component.

How do you link the event to the Mediator so that the Mediator can raise the event to the Event Delivery Network
(EDN)?

A. Use the SOA composite editor to specify the event as a property on the incoming wire into the Mediator component.
B. Use a text editor to modify the .edlfile that defines the event so that the Mediator is identified as a publisher.

C. Use the SOA Composite Editor to add a raise action to the Mediator\\'s . mplan specification file.

D. Use Enterprise Manager to associate the Mediator with the appropriate event.

Correct Answer: C

QUESTION 5
Which statement is true about how BPEL Process Manager handles the For Each activity?

A. The counter variable of the For Each activity is global, so any change to it in the enclosed scope activity is retained
and that change can impact the next iteration.

B. The For Each activity executes a contained scope activity N times, where N is the final counter value minus the
starting counter value.

C. The For Each activity waits for the execution to finish for all the branches specified when the completion condition is
specified and evaluated to true.

D. The counter variable of a For Each activity is local to the enclosed scope activity, so a change to it outside the scope
of the For Each, does not impact the next iteration.

Correct Answer: B
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